—— A
N = 0] &F AF S & AN A
2021 = 20l A LEHSH F=2I =X
SN Fo=NY
MM FOIXX DB 23
ol ZOIME XA MHIA SO CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ZF0I =X 64,888,414 60,413,962 4,474,452
= 41,510,505
g 665, 186
Jl 51,664
= 5,264,746
= 17,396,313
ZF=OI XXl Dl 23 628,762 575,603 53,159
= 210,419
& 49 553
= 368,790
FOIMETRNH A B 628,762 575,603 53,159
= 210,419
o 49,553
= 368,790
FOU=EXNGEEFN 24,500 35,465 A 10,965
201 et 9| 15,000 0 15,000
01 AP 2t 2] d| 15,000 0 15,000
OZ2XJ&8 g4 3,000
OAZEXNER 22X /38 12,000
202 04d| 4,000 4,000 0
01 2L HI 4,000 4,000 0
O =XJ& g42FX 4,000
203 ¥ 2 =& 5,500 2,500 3,000
03 AIZH =& 2 F X H| 5,500 2,500 3,000
OZpl=x AMYREX 2,500
O=X&edE ABGRFX 3,000
NEEAMEEH 29H & 50,000 50,000 0
= 15,000
= 35,000
307 QI2t0| ™ 50,000 50,000 0
= 15,000
= 35,000
10 A EXNAEEHE2IGH EX 50,000 50,000 0
OX2SAHEH 24835 X 50,000
& 15,000
= 35,000
ANSAH 243 XA 8,000 9,050 A 1,050
= 2,400
= 5,600
307 2Iz2t0| & 8,000 9,050 A 1,050
& 2,400
= 5,600
11T A EXAIEEX 8,000 9,050 A 1,050
O3 ULtz IIESENH 29 3,000
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A FUEX L
MM FOIXX DB 23
ol FOIMES A A O (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HDE
= 900
= 2,100
OO =8 MHsSAIYH 24 5,000
o= 1,500
= 3,500
AMSISEXNANE BUARLA 29 37,460 34,100 ,360
301 dEtE M= 37,460 34,100 ,360
0B AISIE22IL A= 37,460 34,100 ,360
O MISXAE AMII=RY sAH XA
7,000) #2228 %20 x12& 36,960
OMISXAIE AMIERRFA B4 HASFH I}
el 500
MESHIIE H2HMEMHA ALY 35,000 33,600 ,400
307 gizto| A 35,000 33,600 ,400
11T A EXAIEEX 35,000 33,600 ,400
Oolsteg 249dl X 35,000
ANEA 2 OUWOIH ANE - =4 58,966 55,332 634
= 29,483
& 11,793
= 17,690
307 QI2t0| ™ 58,966 55,332 ,634
= 29,483
& 11,793
o 17,690
10 Al EXNAEEHESIGH EX 58,966 55,332 ,634
OXNE2AA 2O UOH X 58,966
= 29,483
& 11,793
= 17,690
d=2 S NFEAEE Ot AdHlA XN 1,800 1,562 238
= 900
== 360
= 540
307 2Iz2t0| & 1,800 1,562 238
= 900
= 360
= 540
10 M SXAEEHESIGHEX 1,800 1,562 238
O&N= E& NIEANEE It N 1,800
= 900
= 360
= 540
MIIEXAIE SAN AL2MA 27,000 24,700 ,300
307 ciztol A 27,000 24,700 ,300
11T A EXAIEEX 27,000 24,700 ,300
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AN =S
M FOIXX JIgH 2st
ol ZOIME XA MHIA SO (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMIBISXIAIE SAX(AZIS XA MM
X 902 150, 000& *23| 27,000
AN ERHE XI& 150,036 143,294 6,742
= 150,036
301 LeIEBAF 150,036 143,294 6,742
= 150,036
0B A =R RAB A4S 150,036 143,294 6,742
OMI=ERRA =2 132,906
= 132,906
OAMA=E2E 1=4| 3,574
= 3,574
OMII=22R et 13,556
= 13,556
NESAEEH 2 XS (XXMHHA) 166,000 188,500 A 22,500
307 glz2tol & 166,000 163,500 12,500
10 AL SXAIEEE 2 H EX 166,000 153,500 12,500
OXNESAHE 22 X3 (XMMHE) 131,000
ONASANESXNE (MLASE XH) 35,000
DZL-19 MEXAAH XA 60,000 0 60,000
= 30,000
< 18,000
[ia 12,000
301 LEd = 60,000 0 60,000
= 30,000
< 18,000
s 12,000
01 MI2EZE 06z 60,000 0 60,000
O2ZZ2ULH-19 M X 2H XJAZ 60,000
= 30,000
< 18,000
s 12,000
M5l XAAMIIEHAHE NSMIIEE A 10,000 0 10,000
< 2,000
i 8,000
207 A O] 10,000 0 10,000
< 2,000
e 8,000
01 2339 10,000 0 10,000
OHMBSII NS AAESHE XIS A 2 XA
= 10,000
< 2,000
e 8,000
HNASSE a2 & & &2 8,377,845 8,405,419 N2T,574
= 5,920,617
as 129,050
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2N F
X ZH - .I
L= B

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2m

716,861
1,611,317

M

A MEIA K3 2,090,804 1,896, 171 194,633
1,442,862
129,050
145,160
373,732

MO A

JxzME2dIs SMEZOY 2HelsA 2,400 2,000 400

201 fet2E | 2,400 2,000 400

fateldl 2,400 2,000 400
JIZMEEFIS sAHE20Y |X 2l

131 %2,400,000& 2,400

NE22 NANSHEH L ZATVSLHEH2S (22 1,301,017 1,252,298 48,719
2A)
1,040,814
104,081
156, 122

HH W

201

e
T
0
02
=

13,000 13,000 0
10,400
1,040
1,560

Mo H

01 AP 2tel ] 2,000 2,000 0
OXgZ2 A 2,000

1,600
160
240

11,000 11,000 0
11,000

8,800
880
1,320

MW

02

0K
=

1o
ry og

O o
P
ek
Hu
>
it

MW

301 LeBH S 172,000 147,000 25,000
137,600
13,760
20,640

Mo R

01 AR 2&H =53 172,000 147,000 25,000
OXgZ2 A 172,000
137,600

13,760
20,640

Mo H

307 21201 & 1,116,017 1,092,298 23,719
892,814
89,281
133,922

Mo A

10 A SANAIEHIS2SHIEX 1,116,017 1,002,298 23,719
OQIZIRE XHE2ZAY 1,116,017
892,814

H
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2N F
X ZH - .I
L= B

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M

2Hm
==
£l
Ol
0y

89,281
133,922

M

(XIS Xt 299,261 264,023 35,238

o
ry
Hu
=
— 12
P}
gk
x
o
He
08
19
]
o
rx
m
Ho

209,484
89,777

HH

307 glztol & 299,261 264,023 35,238

209,484
89,777

AW

10 A SXAEHE2SEHIEX 299,261 264,023 35,238
OXNSTt&dH 238l 299,261

209,484
89,777

HH

b
R
=
Ui
x
o
OB
>
=
Jm
g
1
0

9,720 9,720 0

2,916
6,804

EUNL

307 glz2tol & 9,720 9,720 0

2,916
6,804

UL

10 ASAAIEHE2SEH

OPNRS-PAE-ulN= E==YAPN;

22X 9,720 9,720 0
8 9,720

2,916
6,804

Jm
UL

Mo

ANAXE8E MIMEA EXAS(EX) 161,312 80,000 81,312
(DPARFE S 2 X ALY )

129,050
16,131
16,131

M A

307 glz2tol ™ 161,312 80,000 81,312
129,050
16,131
16,131

Mo A

&= 161,312 80,000 81,312
OIIMUE L2 XA 161,312
129,050

16,131
16,131

Mo A

S
]
|
In
13
[y
>
1]

47,400 29,400 18,000

11,850
35,550

EUNLY

307 21201 A 47,400 29,400 18,000

11,850
35,550

UL

10 AR SAAEHE2SEHIEX 47,400 29,400 18,000
OJI=FEWIAEY 27,400

6,850
20,550

EUNE
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AN =S
g MNASS &9 2 g8 &2
¢l MHEAMEA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIZxtY3 &y 20,000
< 5,000
[ia 15,000
2z2s8 Ys ==Y €22 N2 (IYINSSEA 19,924 23,884 A 3,960
2)
= 15,939
s 3,985
307 gl2tol & 19,924 23,884 A 3,960
= 15,939
s 3,985
11T ASI S RAEE = 19,924 23,884 A 3,960
022520l Y= =209 L+2NY -5/
JISESEXNAAAZ 19,924
= 15,939
s 3,985
NELXel At WA At el 28,989 28,603 386
< 8,697
[ia 20,292
307 21201 A 28,989 28,603 386
< 8,697
s 20,292
10 AL SXNAIEEE2EHEX 28,989 28,603 386
OXt&LRelAte WX Atcll2el 28,989
< 8,697
e 20,292
225 Y= =M g2 N (UHLIISEEA 37,431 23,868 13,563
2AIY)
= 29,945
[ia 7,486
307 21201 A 37,431 23,868 13,563
= 29,945
[ia 7,486
11T ALSI S RAEE = 37,431 23,868 13,563
OZ2s80l U= =32 E===2XNA-UHLII
ssEXNE 37,431
= 29,945
s 7,486
AEAY 22HAZ 18,561 53,953 A35,392
= 14,849
< 1,485
[ia 2,227
307 21201 A 18,561 53,953 A 35,392
= 14,849
= 1,485
s 2,227
10 M2 SXNANEHE2IHEX 18,561 53,953 A35,392
oxgzaas 18,561,000 18,561
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A F
4

B HASS 4O B BM 2
¢l MHEAMEA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 14,849
< 1,485
= 2,227
22sA=s =22 €22 NI (FHIYINSES 15,951 29,022 213,071
X H)
= 12,761
s 3,190
307 21201 A 15,951 29,022 213,071
= 12,761
e 3,190
11T M SXASEEX 15,951 29,022 A 13,071
022520 A= +2X0 S+ XNA-HE3
LI SSEANE 15,951
= 12,761
[ia 3,190
2250l Y= +3NO 243 NA(FEHSHH 148,838 57,600 91,238
)
= 119,070
s 29,768
307 glz2tol & 148,838 57,600 91,238
= 119,070
s 29,768
11T M SXALSE EX 148,838 57,600 91,238
0225200 Y= =209 2432 V-84
M= & 148,838
= 119,070
s 29,768
Jlzda2d 5,195,224 5,407,824 A 212,600
= 4,074,035
< 542,301
[ia 578,888
=1 4,925,406 5,178,349 A 252,943
= 3,940,324
< 492,541
[ia 492,541
301 LA F 4,925,406 5,178,349 A 252,943
= 3,940,324
< 492,541
[ia 492,541
01 MI2ZE 6= 4,925,406 5,178,349 A 252,943
OMASN 4,925,406
= 3,940,324
< 492,541
[ia 492,541
mE=I=| 10,369 9,843 526
308 XX EHH SOl 10,369 9,843 526
08 WEII20HStE = 10,369 9,843 526
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SN Fo=NY
g MNASS &9 2 g8 &2
el JEMERE (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OussH 10,369
HAZEHS N 50,770 37,757 13,013
2 40,616
< 5,077
[ 5,077
301 LEPEAZ 50,770 37,757 13,013
= 40,616
< 5,077
e 5,077
01 MEIBEE 2063 50,770 37,757 13,013
Odllat, FH=0 50,770
= 40,616
< 5,077
[ia 5,077
dEE JIZUEETAY 50,040 50,000 40
< 25,020
s 25,020
301 LA F 50,040 50,000 40
< 25,020
i 25,020
01 MI28HE +06l= 50,040 50,000 40
O&F=dg JIzda2d & 50,040
< 25,020
e 25,020
e YR Syl KA 27,551 3,951 23,600
2 27,551
301 LPEXZ 27,551 3,951 23,600
= 27,551
01 MEI2ZE 406z 27,551 3,951 23,600
OZFF 2= EHidl XA 27,551
= 27,551
MASEE 0IMEX 0tA3 B2 131,088 127,924 3,164
= 65,544
< 19,663
s 45,881
301 LA SF 131,088 127,924 3,164
= 65,544
< 19,663
[ia 45,881
01 MEI2EE 263 131,088 127,924 3,164
OMASZE OIMEX 0tA3 B2 131,088
= 65,544
< 19,663
s 45,881
SIY=EXXE A 1,078,817 1,088,424 A9,607
= 403,720
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SN FUSKD
HE: HASS 49 B B4 2
ol EYSXIXA o (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 29,400
s 645,697
S At 2t el Al X 3,000 3,000 0
301 LEHZ 3,000 3,000 0
09 HALAHIX A S 3,000 3,000 0
O SEAAZelAL nesEd XA
1,500,000& * 2% 3,000
22=X K& 367,505 407,880 A40,375
= 294,004
< 29,400
[ia 44,101
301 LEd = 367,505 407,880 A40,375
= 294,004
< 29,400
s 44,101
01 MI2EZE 06z 367,505 407,880 A40,375
O2da=NN2AY 367,505,000 367,505
= 294,004
< 29,400
s 44,101
AT SeAtel el X 12,600 12,600 0
= 6,300
i 6,300
201 B2l 3,780 3,780 0
= 1,890
i 1,890
01 At 22l 3,780 3,780 0
OAtell 22l XI& 3,780
= 1,890
s 1,890
301 LeHBAF 8,820 8,820 0
= 4,410
[ia 4,410
01 MI28HE+06l= 8,820 8,820 0
OAtefl 22l X1 & 8,820
= 4,410
i 4,410
SA=RNIE 29 46,000 14,500 31,500
201 24| 12,000 10,500 1,500
01 At 2t 2l 6,000 4,500 1,500
OsIY=RE 2RI S EHI 3,000
O3 Y=XNE 2= 23| 3,000
02 =224l 6,000 6,000 0
OSIY=RNNESER IEXH 3,500
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AN =S
HE: HASS 49 B B4 2
Sl S Y=XXH o (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oe-1El SEES 2,500
202 044l 4,000 4,000 0
01 = LH 4 1l 4,000 4,000 0
Osgd=XANE 2= 4,000
405 XHoHF S HI 30,000 0 30,000
01 AR EZFH S 30,000 0 30,000
O3L=EX SEXNE A 7 30,000
SEHAF ZelAb 21 XA (BEX) 65,712 65,124 588
= 32,856
e 32,856
101 @124 dl 65,712 65,124 588
= 32,856
s 32,856
03 RIAHAZ 2B+ 65,712 65,124 588
OSE At 22| At 1A | 65,712
= 32,856
s 32,856
OEdaias MESTMY 29,400 37,400 A8,000
201 et 3,000 3,000 0
01 At 2t2l ] 3,000 3,000 0
OH=S0aIANE HESIAY 29 3,000
206 M= Hl 24,000 32,000 A 8,000
01 =8l 24,000 32,000 A 8,000
OU=s0aNses MESTAY HEH|
2,000,000& = 12015 24,000
301 LeBAF 2,400 2,400 0
12 J|EtE &= 2,400 2,400 0
OHEZ0ADAS MB2XT L4 B4
100,000& = 12H =« 23| 2,400
SHS XEE SSTAMHAXEH 100,800 100,800 0
= 70,560
[ia 30,240
201 Let24d] 40,320 30,240 10,080
= 28,224
s 12,096
01 At 2teltl 40,320 30,240 10,080
Osd dsEsEAMHA XA 40,320
= 28,224
s 12,096
301 LEMZ 60,480 70,560 A 10,080
= 42,336
s 18,144
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Fo=sX
HASS 4o & g4 =2
SXHaTT Sg2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 4,000 4,000 0
01 = LH 4 Hl 4,000 4,000 0
Osgx=Atzel g2=2 4,000
F0HE =Xt =4 7,935,035 7,271,133 663,902
= 4,041,886
s 536,136
= 888,377
i 2,468,636
ZOHQl MEotE IHE X& 6,916,180 6,351,010 565,170
= 4,041,886
= 779,523
s 2,094,771
ZOHQ ARSI EN D13 =0 125,638 117,400 8,238
201 Let24E] 4,000 4,000 0
01 At 2t 2l 2,000 2,000 0
OZMAAR HE AH| 2,000
02 2324l 2,000 2,000 0
O ZUHSEZS HEs 2 2,000
307 glz2+ol & 121,638 113,400 8,238
11T M 2XALSE EX 121,638 113,400 8,238
OZOMQ H2Ma 20D 4,000
OZOMABET A/SHE AL 37,828
OGtAH 2218 thsl 8,000
OBt W= 11,000
OFo & &AL 21,500
OsAHEM FEgs 2EA 6,000
O&HOI& Al&tAl 2 Jt=eH0tE 2,660
OAIZZ0Hel StAH==& 2 4,050
OEXZE0L & A2dEMe =X 3,500
OAIZtER A28 S 2,000
o2 w=s 2,030
FAO S 2,050
OMES =04 2,700
=0 Z 3N 2,500
OFAANFMA0 SR=E w4 4,500
Oda=sE sotel M=Ua &0t 3,500
OO B AL CTAIDN S ALY 1,500
OX=ZOMANOESHS &It 2,320
ZOHQ BENMS 3,263 3,263 0
= 979
s 2,284
307 glz2tol & 3,263 3,263 0
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2N
X ZH -
L= B

el

re o Jir
pal
=]

02 0 A
2270
0z Ji

o >
= B
e 0x

e
04 re

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

M

979
2,284

A S XAIE E =

OAZHMHAERNLS

UL

3,263
3,263

979
2,284

,263

91,000

139,

000

A 48,000

91,000

85,

000

6,000

91,000
91,000

85,

000

6,000

HH A

63,865
51,092
5,109
7,664

73,

A9,748

308 MHXItHMS0H

MW

63,865
51,092
5,109
7,664

73,

A9,748

MW

63,865
63,865

51,092
5,109
7,664

73,

N9, 748

ol xel X (SXLRtel)

Mo H

79,450
39,725
15,890
23,835

60,

204

19,246

Mo

79,450
39,725
15,890
23,835

60,

204

19,246

04 DIt 22 XS+
OZ=XLtel X

Mo A

79,450

79,450
39,725
156,890
23,835

60,

204

19,246

Mo

3,991
3,192
320
479

,245

746

Mo A

3,991
3,192
320
479

,245

746

3,991
3,991

,245

746
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o >
= B
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

3,192
320
479

Mo

oYX X3 (et dRel) 234,608 204,018 30,590
117,304
46,921
70,383

HH A

101 1Al 234,608 204,018 30,590
117,304
46,921
70,383

HH A

04 JIZtHZ22 s+ 234,608 204,018 30,590
oxojelaetd eitel 234,608
117,304

46,921
70,383

U AT

FoHIL Xl X & (AR L Xtel) 65,662 63,800 1,862
32,831
13,133
19,698

Mo A

101 @124l 65,662 63,800 1,862
32,831
13,133
19,698

Mo H

04 DIt Z22XSE* 65,662 63,800 1,862
OZOHQIAIZEAlI & Xtel 65,662
32,831

13,133
19,698

MW

R M2ES 3,383 3,900 AB17

1,015
2,368

Mo

301 etE2H S 3,383 0 3,383

1,015
2,368

EUNE

01 A28 X =0dl= 3,383 0 3,383

OFZM 223 3,383
1,015
2,368

URLY

ST EsE2x FIHAE 41,106 39,860 1,246
12,332
28,774

M

307 21201 A 41,106 39,860 1,246

12,332
28,774

UL

o
o
g
S
0
Jm

= 41,106 39,860 1,246

SEX FINEAY 41,106

O
0
2
e
]
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2N
X ZH -
L= B

el

o o Ji
>
i}

02 0 A
2270
0z Ji

o >
= B
e 0x

e
04 re

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

12,332
28,774

M

MASHOQ FEHH Y 2AHH X 2,200 2,500 A300
1,100
440
660

MW

301

e
<
H
rz
oy
S

,200 2,500 A 300
1,100
440
660

MW

01 MI2EZE 06z 2,200 2,500 A 300
SIS 2 ZAHI X2 2,200
1,100

440
660

EURL Y

LETHEAMHIA HtRH X2 84,206 84,206 0
58,944
8,421
16,841

Mo H

307 glztol & 84,206 84,206 0
58,944
8,421
16,841
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o 36,591
OJ|284d| 4,078
Jl 2,039
= 2,039
SEHEQ S3EANHA = X 1,800 1,800 0
307 QI2t0| ™ 1,800 1,800 0
11 A EXAIEEX 1,800 1,800 0
OSAHLQ S83A4EAMHA =IO A&
150,000 x 12« 12& 1,800

- 284 -




Fo=x 1
L =N
Lo=EXSsH &8
(o
CB SR (B) - KIRAY - BES Ol &+ o4 e
S Xel & AlslgsXd EU(Ex) 6,428,406
= 3,214,203
< 1,285,681
s 1,928,522
o124l 25,662
= 12,831
< 5,132
s 7,699
I NA22 24 25,662
OLo el & ASSKNIAAMNG g o
2l 25,662
- 12,831
S 5,132
s 7,699
2 et A | 25,560
= 12,780
< 5,112
s 7,668
AFS 2t 2l 25,560
O =ogXel & ASIESXAAY HOX =
CHZ Hl 180,000& »142H 25,560
- 12,780
< 5,112
s 7,668
LEtENMZ 436,872
= 218,436
< 87,374
s 131,062
MBI EZ A =56 = 436,872
Owolgntel U ASIESHAANY +8I|2 2
ZolsE MM 1,261,000& »12H 15,132
- 7.566
< 3,026
s 4,540
OLolgditel & ASESXNFAAY 2AE 0
A 2sHl(2) 270,000& «142H 1104 & 421,740
= 210,870
= 84,348
e 126,522
gIzZtol 5,940,312
= 2,970,156
< 1,188,063
s 1,782,093
MBI 2XALE E X 5,940,312
Owolgntel U ASIESHAANY +8I|2 2
Log XA 1,877,000& x12H 1304 & 292,812
= 146,406
< 58,563
e 87,843
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2AM: Xl
=EE ES LRI
el NEsH o Sl E )
5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
O gRiel & ASSKNIMNY BAdE 23
A& 5,222,700
= 2,611,350
< 1,044,540
i 1,566,810
O gRiel & ASSKIAAMY At AHIA
= 237,900
= 118,950
< 47,580
i 71,370
O gRiel & ASISSKNIAMG AIEE A
©¢ 29 N& 186,900
= 93,450
< 37,380
s 56,070
Al & A ESXE =2 74,697 61,123 13,574
307 gl2tol & 66,897 61,123 5,774
11T M SXAISE EX 66,897 61,123 5,774
Okl el g2 X& At 66,897
402 RIZ2EXt20l ™ 7,800 0 7,800
01 U2 EALE X (KA R) 7,800 0 7,800
Okeldiiel Mgl JIsE
7,800,000*1CH 7,800
ALIOE2YE 29X& 299,000 279,000 20,000
< 31,700
s 267,300
307 glz2+ol & 299,000 279,000 20,000
< 31,700
s 267,300
10 ALSISXAIEEE2EH EX 290,000 270,000 20,000
OZHANLINEE 29 N& 290,000
< 29,000
s 261,000
11T AL S XA E = 9,000 9,000 0
OAMUONZ2Y SAA Eg8E XA 9,000
< 2,700
e 6,300
KA RI& 1,410,680 1,572,111 A 161,431
LEtENMZ 1,291,400 1,461,951 A 170,551
MBI EZH 5= 1,291,400 1,461,951 A 170,551
OSHE2 SsH=M 29l
300,000 2000 2«34 & 18,000
Okol S=Hl XA 7,000 4,000 » 130K 364,000
Ozt&&eis XNEAY 40,000
OZ2Y A2Z NEMY 150,000
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SN FUSKD
HE: LEMEX LS
S oSXBSH A EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZd2Y 23420 34l K& 719,400
307 21201 A 119,280 110, 160 9,120
11T MISAASEX 119,280 110, 160 9,120
Okelog JgdA X& 6,000
O0BI0IE D18 &AL 4,000
Oxo XNEXRL=S 2,000
OdHsad 24 3,000
OX=2ZH =0 v=,#I10U3 3,000
OZd=Y BE(3M,erd)Ite XA 22,000
OHANAL &2 2= 5,000
OZ2Y UEIS X
34690 210,000 =121 & 41,520
OdzY S&E(NEZX) 923 wsH|
869 x100,000& 8,600
OX2&EI LAH0EZ U3l 8,160
OXs&l &Il s2tHsl 5,000
O=XNEX s L 28y 10,000
O0BoIE D18 3222 U3 HA
1,000, 000& * 13| 1,000
Lo 2EXNE 122,600 110,600 12,000
307 21201 A 122,600 110,600 12,000
10 M2 SXNANEHE2IHEX 32,000 20,000 12,000
Olfstcelsl daZXa 29 32,000
11T MISXASEX 90,600 90,600 0
OkQls & F2E K& MY 35,000
OZ2Y SH=E3 2435 A 55,600
coliE 29 N& 37,000 37,000 0
307 glz2tol & 37,000 37,000 0
11 ALS S XALEE = 37,000 37,000 0
Ogaz ollisr 2 23,000
o=2¢43zis 29 14,000
ANZ cels § 243 ALY 149,280 135,710 13,570
< 37,320
s 111,960
307 21201 A 149,280 135,710 13,570
= 37,320
[ia 111,960
11T AL SXAEE X 149,280 135,710 13,570
Okl Atsl&H e XI& 149,280
< 37,320
e 111,960
JI=3 K= 29,795,250 26,519,983 3,275,267

- 287 -




2N
X ZH -
L= B

el

FooH M

o i re

ooz o

0 &

O o
oy

= o >

3t
i &g

r

= A

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

Mo

26,815,725

505,

905

2,383,620

A

29,
26,

795,
815,
505,
,383,

250
725
905
620

26,519,983

3,275,267

HH A

29,

29,
26,

795

795

815
595

,383

,250

,250
725

,905
,620

26,519,983

3,275,267

M

1

1

,667

250

417

1,889

N222

301 LEIEN S

M

1

1

,667

250

417

1,889

N222

Qb
oy

4

i

<
O =
oo
e H
(O]
o Y

VR

1
1

1,

,667
,667

250
417

1,889

N 222

10
l
Y
HU
>

Il

EUNL

30,

7,
22,

000

500
500

30,000

307 21201 &

EUNL

30,

7,
22,

000

500
500

30,000

Mo

30,
30,

7,
22,

000
000

500
500

30,000

M H

99,

24,
74,

360

840
520

99, 360

307 21201 A

EURLY

99,
24,
74,

360

840
520

99, 360

11 AL S XA

Q

g2x

EUNE

99,

99,

24,
74,

360

360

840
520

99, 360

Mo

9,
2,
6,

000

700
300

9,000

307 glztol &

9,

000

9,000
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AN =S
A SN YL
S oSXBSH A EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 2,700
s 6,300
01 2724l 9,000 9,000 0
ONssEL BdEgx)| XA 9,000
< 2,700
[ia 6,300
UAaF S22 B A= HE K& 26,000 26,000 0
301 LEEAF 26,000 26,000 0
01 AR 2Z A 53 26,000 26,000 0
OYAZLR22AN=HE RS
200,000 » 1302t 2 26,000
Co=EX2 ANEXA 249,586 0 249,586
401 Al HIZ 201 8] 249,586 0 249,586
01 A& HI 246,919 0 246,919
OYARSLALASR D JI52Y 246,919
03 Al 2 THHI 2,667 0 2,667
OYaZERACST R JIS2BY(NERHY
) 2,667
HeRags(=esxn) 391,200 363,470 27,730
HEHHKE 391,200 363,470 27,730
= SHIIZELIAN HES 391,200 363,470 27,730
701 JIEtSI HEHES 391,200 363,470 27,730
01 JIEtZIHEES 391,200 363,470 27,730
O2A=zs0WIISEESH HE2 391,200
HE2IAZH (FU=SI) 92,960 86,500 6,460
el 2 33,000 34,300 A 1,300
FO=RD oHA2H 33,000 34,300 A 1,300
101 @14l 33,000 34,300 A 1,300
03 RIAHAZ2Z2RHE > 33,000 34,300 A 1,300
OSE A Z A IABI(XE = ) 25,000
O A 2SI AY dgola oAy (1A
g, wsH 2 2=¢) 8,000
Jl=&l 59,960 52,200 7,760
FUSEAW Jl=3H 59,960 52,200 7,760
201 Let24d] 22,680 21,600 1,080
01 At 2teltl 22,680 21,600 1,080
OZ 0ol &t 18,144
OS&Hl SHl& 4,536
202 044l 28,080 26,400 1,680
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<

n0

Kio

Hl w

1,680

5,000

5,000

H3r
Wikd
RIS

26,400

4,200

Off &t 24

28,080
28,080

9,200

5,000
5,000
4,200
4,200

2N

O=Wotl

01 =L

Kl
KF
ok
ol

KJ
K

ol
30
O

-
2

01 21

4,200

1128
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